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300,000,000 *1.08/100 3,240
SSHO a2 92,650 92,650 0
201 EH2FH| 33,970 33,970 0
01 AR 2teld| 15,970 15,970 0
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[EEIN
SEXO WHSY(LVTIHY/AeHN)
SoiE HE2

o SIEN
SH-EH . S2(30) - MRAY - BES &t ol 0] &t o8 e
Oget=&H| 10,800
—SEOMN L FFUAN oI
4,500, 000& 23] 9,000
—HMEA NE S WELHE BUTY
360,002 *53] 1,800
ORgag 2,170
— XN ESHAA NS 700,000& 700
—EIMEANO HEEY  70,00087Y 490
—ABISHEEDHO BALY
70,000% x8H 560
—MHEZSAYS & 70,0008 x6H 420
O=&l 3,000,000& 3,000
02 ZB2YY| 18,000 18,000 0
O & EHIS b 18,000,0002 18,000
202 (44l 8,680 8,680 0
01 =2 WA bl 8,680 8,680 0
OMEes A& =& 5,680,000 5,680
OZ&HE:E Itz =& 3,000,000& 3,000
203 H 2 =&l 14,000 14,000 0
03 Al FA AR 14,000 14,000 0
OAHE HB2Y AH =7 4,000, 0002 4,000
OAZENE =& =& 5,000, 000& 5,000
OX=M& &= =& 5,000,000& 5,000
303 A 20,000 20,000 0
01 Z& = 20,000 20,000 0
Onlldtd it = 20,000, 000& 20,000
403 XX &M S =01 & 16,000 16,000 0
02 S| 2SO0l CHEHCH & A B 16,000 16,000 0
OXNgMy2IMNAL (-5 X) RRAES
16,000,000& * 14! 16,000
ool gl (olliglgl/olglgl) 5,591,186 5,936,007 A 344,821
ol g1l 5,591,186 5,936,007 A 344,821
(] )=]=] 5,591,186 5,936,007 A 344,821
801 oilHlH 5,591,186 5,936,007 A 344,821
01 ollgl gl 5,591,186 5,936,007 N 344,821
ooyl gl 5,591, 186,000& 5,591,186
HE2AZUI (D=2 ALA) (DIEHDIE}) 34,030 30,700 3,330
|=2Z 4l 34,030 30,700 3,330
IEEE 34,030 30,700 3,330
201 LBrS | 2,730 11,200 1,530
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R HPIEETIN
M2 B AP (OI=2A)(IEHIIE)
Sl Jl= (25 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
01 ALR 2l 12,730 11,200 1,530
OIEIES=Yi] 12,730,0002! 2,730
202 04t 13,800 12,000 1,800
01 20l 8] 3,800 12,000 1,800
SHSHAH, MOIL, 38 B4 S)
13,800, 0002 13,800
203 R =Yl 7,500 7,500 0
01 ISP ARE Y| 3,300 3,300 0
OJIZ AN 3,300,002 3,300
04 NS YAREY| 4,200 4,200 0
ORN2YYLETY) 4,200,0002! 4,200
HWRES(JISAAM) (L BDHUT /L) 509, 250 509, 250 0
SENE 509, 250 509, 250 0
2 o 509, 250 339, 150 70,100
311 X 20/ KAt 509,250 339, 150 170,100
06 JIEHXHI 201 K&t & 509,250 339, 150 70,100
009 REA 2% 2™ X Ol Ktaret
509,250,002 509, 250
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